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1. The requirements for bKAGRA

iIKAGRA [ bKAGRA
Laser power:2W Laser power:~200W
- Test mass is pushed by the radiation pressure. So

laser intensity fluctuations lead to vibrational
fluctuations of test mass.

* The requirements on relative intensity noise of the

laser are 2 X 107 ?/+/Hz @30Hz , 1x 10~ 8/+/Hz
@ 100Hz. |
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3.Result
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3.Result

|
Free run(out of loop)

/

0.0001 ¢

——

T, 1 —relative shot noise(in loop)

[E—
@

-
(@)

3.8x10°/VHz

o/ H\L | ] —relative shot noise(out of loop)
Feedback(out of loop

[E—
@

-
|

3.2x10°/VHz

[E—
@

-
o0

Relative intensity noise[/ Hz'"?]

i Feedback(in loop)
1e-09 Copackinlogp)

I ]
10 100 1000 10000
Frequency [Hz]




3.Result
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3.Result
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4.Future plan

*use the circuit which | optimized in substitution for
SR560
"improve PD to be able to flows more electric currents

"test it in a clean room
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